Historic Bicycle

This problem gives you the chance to: I 1
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out. / £63.2% inches

C = f;d
1 (s2)

1)

C

¢ = 163:-2%

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out. 13 feet 7 inches

SO\ 163 2¥
13. 604 163.2¥

12{163.2¥¢ - 156
7.t ¢
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3. How many times must the cyclist turn the big wheel to travel 1 mile? I 1
(A mile is 1760 yards.)
Give your answer to the nearest 10 turns.

Show how you figured it out. 24911 turng

~ = F39 obout § Y"ﬂxi

N1V Hbob

4. 535[ 1966

4, How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.

Show how you figured it out. 121 #uens

4. 7Y .
12 /5652 w

C = TT(!?) ). 52 yds
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Historic Bicycle

This problem gives you the chance to:
+ work with the circumference of a circle

T2

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

572

NS

2)13.28
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3. How many times must the cyclist turn the big wheel to travel 1 mile? I 2
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns.

Show how you figured it out. % 2 ‘r'; meS
C = \b 3.2 8

9,2 8?)-?“’1495,?8 = 2272

W
w

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.

Show how you figured it out. q 5 ‘hm € 5

C =5280% 5&4-52~9453 472
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

Cand d=52
C=1m-52

=3, 3,72.8\8

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.  gommemmm
Show how you figured it out.

\65 D62L2\B 2\
gl
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3. How many times must the cyclist turn the big wheel to travel 1 mile?

(A mile is 1760 yards.)

Give your answer to the nearest 10 turns.

Show how you figured it out.

5280 + 5.

o
_J

—
«—1

4. How many times does the small wheel turn when the cycle travels 1 mile?

nehes ond Feel

Give your answer to the nearest 10 turns.

Show how you figured it out.

™\8

=C

C= 549 6'-\81049‘1':;@

(z6. 55]-—\1

"l.r}\?.ﬁ DB4Y
k’\ Fee £+ "HFinaches

10 +

qw-jﬁ

12 5.4 o056
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up gn the internet and found that:
WNONE,
the big wheel/could have'a 52 inch diameter and

the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

2oV

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

%\ R
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3. How many times must the cyclist turn the big wheel to travel 1 mile? I 4
(A mile is 1760 yards.)

Show how you figwed tout. TG Aurns
| IGO0 520+
52504

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.
Show how you figured it out. 2 :ZCT ﬂ ) ‘_J[ U hS

oy T
o= 2-3
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Historic Bicycle

This problem gives you the chance to: I 5
» work with the circumference of a circle ,

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out. \@5 s ?)Q‘ inches

1 usged e eq‘uu‘t on okXxhe \'ap

c=T& ant e}cre.é 42 inth¥he
damele ¢ \h.)( (&) l(\r\&é v en\eC

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out. 'S feet 7 inches

T awded W3 By 12 wion (&)\\' e now Wiy
Leek andvecevnopneC go‘r e lPnl dntines,
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3. How many times must the cyclist turn the big wheel to travel 1 mile? I 5
(A mile is 1760 yards.) ’

Give your answer to the nearest 10 turns.

Show how you figured it out. L{C.[).\—u% -
‘7@(3 bY’?D ewn AN\A@A

\\yphied
Mu ‘Eecause.%\m\f S how &ka€
'&'w,\nm\\w&xa.\ LS oncl

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.

Show how you figured it out. \ ,S )_»Q §g(§\$

Rlighied ity 3 then ivided it
by 4.7 becuuse tu'tshobar

Yo LtHE wieel lurnsonce
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

C= ﬂ?)?. 21@>.2%

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

165 .2%
"2 -
V58 40
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3. How many times must the cyclist turn the big wheel to travel 1 mile? S 1
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns.

Show how you figured it out. , K‘/?)%% hWS
%7280 (= 290 S

e ———— s 0

A2%0 7 12,0l

283 45

4. How many times does the small wheel turn when the cycle travels 1 mlle? .
Give your answer to the nearest 10 turns.

Show how you figured it out. 4 K l \ Z@JL TanNy)

C=nIg 67_%Cb 5&%—%\ \-———-"/

11210149
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

0= nl52)
0 \03A

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

i
VL
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3. How many times must the cyclist turn the big wheel to travel 1 mile? S 2
(A mile is 1760 yards.)
Give your answer to the nearest 10 turns.

Show how you figured it out. 4‘ 1D %

4. How many times does the small wheel turn when the cycle travels 1 mile?

Give your answer to the nearest 10 turns. NP
Show how you figured it out. /2-%40 T \-\5«

Cxre(\)
=505 W

————————

\2.
= 4.5y T
3
-\ s

V160 x \\S= 2640
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

On ‘he (_ojcu'm,'or, %2)’1’3 )é;???é

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

T e} over
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3. How many times must the cyclist turn the big wheel to travel 1 mile? SS
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns.
Show how you figured it out. 388 g) }U( ns

J:10:-.6%  Qre mile =780 £+
28045 1% 5= 3853

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.

Show how you figured it out. ‘ \ 33 JU €ns

1bn = b6.54
124498 48" =4 66

£280% 4.667 1133
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Historic Bicycle

This problem gives you the chance to: S4
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel? \ {j 3 rL ({

Show how you figured it out. ‘ inches
2. How far would you travel in one turn of the big wheel?

Give your answer in feet and inches.

Show how you figured it out. \ '5 feet | inches
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3. How many times must the cyclist turn the big wheel to travel 1 mile?
(A mile is 1760 yards.)
Give your answer to the nearest 10 turns.
Show how you figured it out.

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.
Show how you figured it out.

12\
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Historic Bicycle

This problem gives you the chance to: S 5
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

B
Vi€ L -

1. What is the circumference of the big wheel?
Show how you figured it out. l 6 3 . .2 8) inches

2,14
“5
;4’,3«28

2. How far would you travel in one turn of the big wheel?

Give your answer in feet and inches. ,
Show how you figured it out. '3 feet é inches
2k H00Tn 00667 >
2/163.29
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3. How many times must the cyclist turn the big wheel to travel 1 mile? Ss
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns. - -
Show how you figured it out. [_3)/2 7‘7’7? e-?\

o

4. How many times does the small wheel turn when the cycle travels 1 mile?2 :

Give your answer to the nearest 10 turns. / .
Show how you figured it out. ﬁC’ 3 "h mej /
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

"
{ = 3,“""5‘2

2. How far would you travel in ong turn of the big wheel?

Show how you figured it ou

>

163.20

1Z g
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3. How many times must the cyclist turn the big wheel to travel 1 mile? ‘ § 6
(A mile is 1760 yards.) 633.6
6 D Y +urns

Give your answer to the nearest 10 turns.
Show how you figured it out.

2 feet ¢ Iyard

400:6
R feet s lVlY"{
I 60 63360 | Mile = 1760
e ) imd\es yawfts
634
56 ®

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.

Show how you figured it out. ' 2 b %
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Historic Bicycle
This problem gives you the chance to: S 7

» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?

Show how you figured it out. [ (073 .77[92818’ inches
C=yd
=152 752=1LD2%73\%

C= DBl

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.

Show how you figured it out. ! > feet 7 2 o(inches

172,962
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3. How many times must the cyclist turn the big wheel to travel 1 mile? S 7
(A mile is 1760 yards.)
Give your answer to the nearest 10 turns. Sq O
Show how you figured it out.

%: 55%=Tn

17600 5=5280 L 290 4o
el N

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns. l l ,2) D

Show how you figured it out.

g wineel d.
57 _ 7 s53558559
| &
el Lhee\ Q\.
5q0; ﬂq’v‘\our\‘(' DL"‘L(PV\S l‘f) /nn WQM‘

D:‘g, whee (
2007 558838854 = || 2L . Lblo
R P\@uv\é U\Q ,
DD tuens
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Historic Bicycle

This problem gives you the chance to: 88

» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel? : '
Show how you figured it out. \(0% . Ha3 inches

I mu\\c“\?\\e& Q\‘ \O\{ SLUNTNNA YN \\3 \\)(\Q &@M&XQT‘

2. How far would you travel in one turn of the big wheel? /&/@/
Give your answer in feet and inches. ‘
Show how you figured it out. VB feet \7 inches

T cQ\olcQzQ 13 oy 12 andl %@5& [ 3. 5%
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3. How many times must the cyclist turn the big wheel to travel 1 mile? 88
(A mile is 1760 yards.)
Give your answer to the nearest 10 turns.

Show how you figured it out. 39
L mu\%p{g?e& f60 oy 3 andd &6\‘ B0 éc}
Then Qivdell 5280 oy 13.5% ard! 36‘9 2% . B0%.

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.

Show how you figured it out. \&40 +ufm
T Sgued ot Ya Oreumbrenca. (g Hhe Yeaf
ond. indnes Yo A8 Y. <ome. mm@-[ 0:dl s
+ 32,
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

T2
2 (4(G7)
| 63,28

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

ni \g“ %})‘8 :r%ICOOCOQ

OO

| 116 32
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3. How many times must the cyclist turn the big wheel to travel 1 mile? Sg
(A mile is 1760 yards.)

Give your answer to the nearest 10 turns. Z_} L 0
Show how you figured it out. + .

hpeo=\BseAB
IPrarn A3 \fﬁ' Y %ﬁg;ﬁ:
Loens (4002

Lot @S TS HIO

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.
Show how you figured it out. \ \ ' =

e
2,14lm) =2 % 2

s
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Historic Bicycle

This problem gives you the chance to:
» work with the circumference of a circle

The circumference of a circle, C = nd, where d is the diameter

Basil saw a strange old bicycle at the museum.
It had one very big wheel and one very small one.

It was called an ‘Ordinary’ or a ‘Penny Farthing’.

At home Basil looked it up on the internet and found that:

the big wheel could have a 52 inch diameter and
the small wheel could have an 18 inch diameter.

1. What is the circumference of the big wheel?
Show how you figured it out.

msaz G iy whed, (Z16 34

2. How far would you travel in one turn of the big wheel?
Give your answer in feet and inches.
Show how you figured it out.

163,449

Copyright © 2010 by Mathematics Assessment Page 4
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3. How many times must the cyclist turg the big wheel to travel 1 mile? S 1 0
(A mile is 1760 yards.) =¥ /gD + . ;

; b G840 in
Give your answer to the nearest 10 turns.

Show how you figured it out. ( %) 390 _'lb\l’fl.s
Buia. 60 )b& *OQ@' '“""‘""“)"‘5;“\4'\ S hded 63340 ;. y 163.4 ..

4. How many times does the small wheel turn when the cycle travels 1 mile?
Give your answer to the nearest 10 turns.

Show how you figured it out. “ 20 +ur,‘n <
[ 4 -

y
" U3HO /g ey
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